pg. 156-157 #3-11 odd AND pg. 162-163 #3-13

odd
18 ft2

187 km?
243 in.?

15 meters was used for the height
instead of 13 meters.
A=8(13) = 104 m?

12 units?

e NV W

6 cm?
1620 in.?
1125 cm?

The side length of 13 meters was used
instead of the height.

@ NV Wwea

A= ;[1[})[12} = 60 m*

11. 324 cm?
13. 90 mi?



pgl 1 70 #2-5, 7, 8, 1 0-1 4
2. height /i and bases b and b,
3. 2/ + 2w; This is an expression for
the perimeter of a rectangle. The
other three are expressions for area

(triangle, rectangle,
and trapezoid).

12 units?
24 units?
28 1n.?

10 cm?

0 N U =

10. The height was not included in the
formula.

A= ;{8][6 + 14) = 80 m?

11. 8 units?
12. 16 units?®
13. 12 units?
14. 16 ft?



pg. 173 #1-6

. 36 units?

. 32 units?

1

2

3. 20 units?®
4. 120 ft2
5

1261 cm?
)

6. 132in.°



Name

Date

LB - Area of Composite Figures

Find the area of the shaded figure. Show all work.
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